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1. What type of motivation is not applicable to

young children ?

(A) Intrinsic motivation

(B) Extrinsic motivation

(C) Achievement motivation

(D) None of the above

2. The 'Trial and Error' theory of Learning was

propounded by :

(A) Newton

(B) Pavlov

(C) Thorndike

(D) Homer

3. In the childhood, individual's behaviour is

most influenced by :

(A) Community

(B) School

(C) Peer group

(D) Family

4. The cause of frustration among sports

person is :

(A) Result of own performance

(B) Normally due to mismatched level

of aspiration and ability

(C) Result of good performance

(D) Natural outcome of competitive sports

5. Which is the description of the methods of

personality measurement ?

(A) Rating scale

(B) Interviews and Observations

(C) Paper and Pencil test

(D) All of the above

1. fdl izdkj dh izsj.kk NksVs cPpksa ij ykxw ugha
gksrh gS \

(A) vkUrfjd izsj.kk

(B) ckgjh izsj.kk

(C) miyfC/k izsj.kk

(D) mijksDr esa ls dksbZ ugha

2. lh[kus dk ̂ ijh{k.k vkSj =qfV* fl)kar fdlds
}kjk izfrikfnr fd;k x;k Fkk \

(A) U;wVu

(B) ikoykWo

(C) FkkWuZMkbd

(D) gksej

3. ckY;koLFkk esa] O;fDr dk O;ogkj lcls
vf/kd izHkkfor gksrk gS %

(A) leqnk;

(B) fo|ky;

(C) lgdehZ lewg

(D) ifjokj

4. f[kykfM+;ksa esa fujk'kk dk dkj.k gS %

(A) Lo;a ds izn'kZu dk ifj.kke

(B) vkerkSj ij vkdka{kk vkSj {kerk ds
csesy Lrj ds dkj.k

(C) vPNs izn'kZu dk ifj.kke

(D) izfrLi/khZ [ksyksa ds izkÑfrd ifj.kke

5. O;fDrRo ekiu dh fof/k;ksa dk o.kZu fdlesa
gS \

(A) jsfVax Ldsy

(B) lk{kkRdkj vkSj voyksdu

(C) isij vkSj isafly VsLV

(D) mijksDr lHkh

[P.T.O.]
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6. The response defined as a result of training

is called :

(A) Conditioned stimulus

(B) Unconditioned reflex

(C) Conditioned reflex

(D) Conation

7. Endomorphic, Mesomorphic and

Ectomorphic are types of :

(A) Bones

(B) Joints

(C) Personalities

(D) Muscles

8. ERG theory was given by :

(A) Maslow

(B) Alderfer

(C) Jung

(D) McClellan

9. Alderfer's theory categorizes needs into

three categories. The most important is :

(A) Growth needs

(B) Relatedness need

(C) Existence need

(D) None of the above

10. Which of the following is an intrinsic

motivator ?

(A) Pay

(B) Promotion

(C) Feedback

(D) Interest of play

6. izf'k{k.k ds ifj.kke ds :i esa ifjHkkf"kr
izfrfØ;k dks dgk tkrk gS %

(A) okrkuqdwfyr mÙkstuk

(B) fcuk 'krZ izfrorZ

(C) okrkuqdwfyr izfrorZ

(D) dksus'ku

7. ,aMksekWfQZd] eslksekWfQZd vkSj ,DVksekWfQZd izdkj
gSa %

(A) gfì;ksa

(B) tksM+ksa

(C) O;fDrRo

(D) ekalisf'k;ksa

8. bZ-vkj-th- fl)kar fdlds }kjk fn;k x;k Fkk \

(A) eSLyks

(B) ,YMjQj

(C) tax

(D) eSDysyu

9. ,YMjQj dk fl)kar t:jrksa dks rhu Jsf.k;ksa
esa oxhZÑr djrk gSA lcls egÙoiw.kZ gS %

(A) fodkl dh vko';drk

(B) lkis{krk dh vko';drk

(C) vfLrRo dh vko';drk

(D) mijksDr esa ls dksbZ ugha

10. fuEufyf[kr esa ls dkSu ,d vkUrfjd izsjd
gS \

(A) osru

(B) inksUufr

(C) izfrfØ;k

(D) [ksyus dh #fp
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11. How is psychology defined today ?

(A) The science of behaviour and

mental processes

(B) The science of human behaviour

and mental processes

(C) The science of mind

(D) The study of motivation, emotion,

personality, adjustment and

abnormality

12. Who is regarded as the 'Father of

Psychology' ?

(A) Sigmund Freud

(B) Ivan Pavlov

(C) John B. Watson

(D) Wundt

13. The source of intrinsic motivation is :

(A) Teacher

(B) Family

(C) Self

(D) All of the above

14. Body mind relationship was first

promulgated by :

(A) Socrates

(B) Plato

(C) Hitler

(D) Homer

15. Who said, "I think therefore I am" ?

(A) Descartes

(B) Plato

(C) Aristotle

(D) Rousseau

11. vkt euksfoKku dks dSls ifjHkkf"kr fd;k
tkrk gS \

(A) O;ogkj vkSj ekufld izfØ;kvksa dk
foKku

(B) ekuo O;ogkj vkSj ekufld izfØ;kvksa
dk foKku

(C) eu dk foKku

(D) izsj.kk] Hkkouk] O;fDrRo] lek;kstu
vkSj vlkekU;rk dk v/;;u

12. ^euksfoKku dk tud* fdls ekuk tkrk
gS \

(A) flxeaM Ýk;M

(B) boku ikoykWo

(C) tkWu ch- okVlu

(D) oq.V

13. vkUrfjd izsj.kk dk lzksr gS %

(A) v/;kid

(B) ifjokj

(C) Lo;a

(D) mijksDr lHkh

14. ru eu laca/k lcls igys fdlds }kjk iz[;kfir
fd;k x;k Fkk \

(A) lqdjkr

(B) IysVks

(C) fgVyj

(D) gksej

15. fdlus dgk] ^^eq>s yxrk gS blfy, eSa gw¡** \

(A) nsdkrZ

(B) IysVks

(C) vjLrw

(D) :lks

[P.T.O.]
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16. Sports performance is the bi-product of :

(A) Skill

(B) Conditional ability

(C) Total personality

(D) Tactical ability

17. The first metamorphosis falls between the

ages of :

(A) 7-10 years

(B) 3-5 years

(C) 11-14 years

(D) 2-4 years

18. Which is the most effective method for

encouraging self-learning ?

(A) Demonstration method

(B) Lecture method

(C) Observation method

(D) Task method

19. Which one is the simplest form of

Cognition ?

(A) Conception

(B) Perception

(C) Sensation

(D) Affection

20. The functional division of spinal cord are :

(A) Somatic-motor

(B) Somatic-sensory

(C) Visceral-motor

(D) None of the above

16. [ksy izn'kZu dk f}&mRikn gS %

(A) dkS'ky

(B) l'krZ {kerk

(C) dqy O;fDrRo

(D) lkefjd {kerk

17. igyk dk;karj.k------- dh mez ds chp vkrk
gSA

(A) 7-10 o"kZ

(B) 3-5 o"kZ

(C) 11-14 o"kZ

(D) 2-4 o"kZ

18. Lo&f'k{kk dks izksRlkfgr djus ds fy, lcls
izHkkoh rjhdk dkSu&lk gS \

(A) izn'kZu fof/k

(B) O;k[;ku fof/k

(C) voyksdu fof/k

(D) dk;Z fof/k

19. vuqHkwfr dk lcls ljy :i dkSu&lk
gS \

(A) xHkkZ/kku

(B) /kkj.kk

(C) luluh[kst

(D) Lusg

20. jh<+ dh gìh dk dk;kZRed foHkktu gS %

(A) nSfgd&eksVj

(B) nSfgd&laosnh

(C) vkar&eksVj

(D) mijksDr esa ls dksbZ ugha
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21. Trial and Error learning is also known

as :

(A) Conditioning

(B) Connectionism

(C) Insight

(D) None of the above

22. Exercise for the body and music for the soul,

in which country the common adage was

used ?

(A) Italy

(B) France

(C) Greece

(D) Germany

23. What aspect of movement refers to body

awareness ?

(A) To identify the parts of the body and

the whole

(B) To establish the relationship of the

body parts

(C) Able to identify the body parts

(D) All of the above

24. Law of Effect in Learning was started

by :

(A) Pavlov

(B) Thorndike

(C) Skinner

(D) Gestalt

25. Endomorphic people are :

(A) Obese

(B) Energetic

(C) Solid body

(D) Adventures

21. ijh{k.k vkSj =qfV lh[kus dks------- ds :i
esa Hkh tkuk tkrk gSA

(A) daMh'kfuax

(B) dusD'kuokn

(C) varnZ̀f"V

(D) mijksDr esa ls dksbZ ugha

22. 'kjhj ds fy, O;k;ke vkSj vkRek ds fy,
laxhr] fdl ns'k esa vke dgkor dk bLrseky
fd;k x;k Fkk \

(A) bVyh

(B) Ýkal

(C) xzhl

(D) teZuh

23. 'kjhj dh tkx:drk ds fy, vkUnksyu dk
dkSu&lk igyw lanfHkZr djrk gS \

(A) 'kjhj ds vaxksa vkSj iwjs dh igpku
djus ds fy,

(B) 'kjhj ds vaxksa ds laca/k LFkkfir djus
ds fy,

(C) 'kjhj ds vaxksa dh igpku djus esa l{ke

(D) mijksDr lHkh

24. vf/kxe esa izHkko dk fu;e fdlds }kjk
izkjEHk fd;k x;k Fkk \

(A) ikoykWo

(B) FkkWuZMkbd

(C) fLduj

(D) xsLVkYV

25. ,aMksekWfQZd yksx gSa %

(A) eksVkik

(B) ÅtkZoku

(C) Bksl 'kjhj

(D) ,MosaplZ
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26. Which of the following is a Law of Learning ?

(A) Law of Readiness

(B) Law of Exercise

(C) Law of Effect

(D) All of the above

27. Mental development includes :

(A) External and Internal organs

(B) Reasoning and Thinking

(C) Ethical and Moral

(D) Emotional maturity

28. Through which of the following methods,

desirable channels are provided for the

release of emotional energy ?

(A) Inhibition

(B) Sublimation

(C) Catharsis

(D) Repression

29. The rate of progress in learning slows down

and reaches a limit beyond which further

improvement seems impossible. It is known

as :

(A) Plateau

(B) Loss of Interest

(C) Boredom

(D) Difficult stage

30. The Therapy of Psychoanalysis was

developed by :

(A) Skinner

(B) Sigmund Freud

(C) Plato

(D) Darwin

26. fuEufyf[kr esa ls dkSu&lk lh[kus dk fu;e gS \

(A) rRijrk dk fu;e

(B) O;k;ke dk fu;e

(C) izHkko dk fu;e

(D) mijksDr lHkh

27. ekufld fodkl esa 'kkfey gS %

(A) ckgjh vkSj vkarfjd vax

(B) rdZ vkSj lksp

(C) uSfrd vkSj uhfrlaxr

(D) HkkoukRed ifjiDork

28. HkkoukRed ÅtkZ ds foekspu ds fy, fuEufyf[kr
esa ls fdl fof/k ds ek/;e ls okaNuh; pSuy
iznku fd;s tkrs gSa \

(A) fu"ks/k

(B) mPp cukus dh fØ;k

(C) dSFkkflZl

(D) neu

29. lh[kus esa izxfr dh nj /kheh gks tkrh gS vkSj
,d lhek rd igq¡p tkrh gS ftlds vkxs vkSj
lq/kkj vlaHko yxrk gSA bls ;g Hkh dgk
tkrk gS %

(A) iBkj

(B) C;kt dh gkfu

(C) cksfj;r

(D) dfBu pj.k

30. euksfo'ys"k.k dh fpfdRlk fdlds }kjk fodflr
dh xbZ Fkh \

(A) fLduj

(B) flxeaM Ýk;M

(C) IysVks

(D) MkfoZu
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31. Factors most influencing growth :

(A) Heredity

(B) Diet

(C) Exercise

(D) Education

32. Stress is :

(A) Advantageous to the player

(B) Detrimental to his abilities

(C) Both advantageous and detrimental

as per the situation

(D) None of the above

33. According to the text, aggression always :

(A) is committed by someone who has

been deliberately provoked

(B) involves intent to harm someone

(C) causes physical pain

(D) involves emotional arousal

34. Emotional stability, anxiety, sadness and

built ability are attributes of which personality

dimension ?

(A) Extroversion

(B) Agreeableness

(C) Bourgeoisies

(D) Openness

35. The leader who allows complete freedom

in decision-making and do not participate

in the group activities is :

(A) Autocratic

(B) Democratic

(C) Laissez faire

(D) None of the above

31. of̀) dks lokZf/kd izHkkfor djus okys ?kVd %

(A) vkuqoaf'kdrk

(B) vkgkj

(C) O;k;ke

(D) f'k{kk

32. ruko gS %

(A) f[kykM+h ds fy, Qk;nsean

(B) mldh {kerkvksa ds fy, gkfudkjd

(C) nksuksa fLFkfr ds vuqlkj Qk;nsean vkSj
gkfudkjd

(D) mijksDr esa ls dksbZ ugha

33. ikB ds vuqlkj] vkØkedrk ges'kk %
(A) fdlh ,sls O;fDr }kjk fd;k tkrk gS

ftls tku&cw>dj mdlk;k x;k gks
(B) fdlh dks uqdlku igq¡pkus dk bjknk

'kkfey gS
(C) 'kkjhfjd nnZ dk dkj.k curk gS
(D) HkkoukRed mÙkstuk 'kkfey gS

34. HkkoukRed fLFkjrk] fpark] mnklh vkSj
fufeZr {kerk fdl O;fDrRo vk;ke ds xq.k
gSa \

(A) cfgeqZ[krk

(B) lgerrk

(C) iw¡thifr

(D) [kqykiu

35. og usrk tks fu.kZ; ysus esa iw.kZ Lora=rk dh
vuqefr nsrk gS vkSj lewg xfrfof/k;ksa esa Hkkx
ugha ysrk gS %

(A) fujadq'k

(B) MseksØsfVd

(C) vgLr{ksi

(D) mijksDr esa ls dksbZ ugha

[P.T.O.]
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36. Which of the following example is trait theory

of Personality ?

(A) Sheldon's classification

(B) Jung classification

(C) Personality

(D) All of the above

37. In addition to sports, the exponent of Surplus

Energy Theory is :

(A) Russell

(B) Shiller

(C) Stern

(D) Salvasan

38. The exponent of Recreation Theory of Sports

is :

(A) Russell

(B) Stern

(C) Patrick

(D) Shiller

39. Achievement Goal Theory has three factors :

(a) Achievement goal

(b) Perceived ability

(c) Task orientation

(d) Achievement behaviour

Find the correct combination :

(A) (b), (a), (c)

(B) (c), (d), (a)

(C) (d), (c), (b)

(D) (a), (b), (d)

40. The Law of Readiness depends upon :

(a) Student interest

(b) Student ability

(c) Student need

(d) Student maturity

Find the correct combination :

(A) (a), (b)

(B) (a), (b), (c)

(C) (a), (c), (d)

(D) (a), (b), (c), (d)

36. fuEufyf[kr esa ls dkSu&lk mnkgj.k O;fDrRo
dk y{k.k fl)kar gS \
(A) 'ksYMu dk oxhZdj.k
(B) tax oxhZdj.k
(C) O;fDrRo
(D) mijksDr lHkh

37. [ksy ds vfrfjDr 'kfDr fl)kar (Surplus

Energy Theory) ds izfriknd gSa %
(A) jlsy
(B) f'kyj
(C) LVuZ
(D) lykolu

38. [ksy ds euksjatu fl)kar (Recreation Theory

of Sports) ds izfriknd gSa %
(A) jlsy
(B) LVuZ
(C) iSfVªd
(D) f'kyj

39. miyfC/k y{; fl)kar ds rhu dkjd gSa %
(a) miyfC/k y{;
(b) dfFkr {kerk
(c) dk;Z vfHkfoU;kl
(d) miyfC/k O;ogkj
lgh la;kstu [kksft, %
(A) (b), (a), (c)

(B) (c), (d), (a)

(C) (d), (c), (b)

(D) (a), (b), (d)

40. rRijrk dk fu;e fuHkZj djrk gS %
(a) Nk= fgr
(b) Nk= {kerk
(c) Nk= dh t:jr
(d) Nk= ifjiDork
lgh la;kstu [kksft, %
(A) (a), (b)

(B) (a), (b), (c)

(C) (a), (c), (d)

(D) (a), (b), (c), (d)
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41. Who said, "Sound mind in a sound body" ?

(A) Descartes

(B) Rousseau

(C) Aristotle

(D) Plato

42. The hereditary factors of learning are :

(A) Height and Weight

(B) Physical structure

(C) Body composition

(D) All of the above

43. The time of growth and development from

0 to 3 years of age is known as :

(A) Adulthood

(B) Old age

(C) Infant stage

(D) Middle stage

44. The stress condition is :

(A) Advantageous to the performer

(B) Detrimental to the performer

(C) Neither (A) nor (B)

(D) Helpful in the development of

strength

45. Which law of learning states that things most

often repeated are best retained ?

(A) Law of readiness

(B) Law of exercise

(C) Law of effect

(D) Law of recency

41. ^^,d LoLFk 'kjhj esa LoLFk eu**] fdlus dgk
Fkk \
(A) nsdkrZ
(B) :lks
(C) vjLrw
(D) IysVks

42. lh[kus ds oa'kkuqxr dkjd gSa %

(A) Å¡pkbZ vkSj otu

(B) HkkSfrd lajpuk

(C) 'kjhj lajpuk

(D) mijksDr lHkh

43. of̀) vkSj fodkl ds 0 ls 3 o"kZ ds mez ds
le; dks tkuk tkrk gS] ds :i esa %

(A) izkS<+ voLFkk

(B) o)̀koLFkk

(C) f'k'kq voLFkk

(D) e/; voLFkk

44. ruko dh fLFkfr gS %

(A) dykdkj ds fy, Qk;nsean

(B) dykdkj ds fy, gkfudkjd

(C) u rks (A) u gh (B)

(D) 'kfDr ds fodkl esa lgk;d

45. lh[kus dk dkSu&lk fu;e dgrk gS fd lcls
vf/kd ckj nksgjkbZ tkus okyh phtsa lcls
vPNh rjg ls cjdjkj jgrh gSa \
(A) rRijrk dk fu;e
(B) O;k;ke dk fu;e
(C) izHkko dk fu;e
(D) uohurk dk fu;e
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46. What is the spelling of "Khel Manovigyan"

in English ?

(A) Sports Psychology

(B) Sports Sychology

(C) Sports Xychology

(D) None of these

47. How many main branches of Psychology

are there ?

(A) 20

(B) 30

(C) 12

(D) 10

48. In modern times, Psychology is considered

as the science of :

(A) Aptitude

(B) Entertainment

(C) Behaviour

(D) Sports

49. Which of the following is not a dimension of

Personality ?

(A) Physical

(B) Psychological

(C) Emotional

(D) Chemical

50. How many types of Motivation are there ?

(A) 2

(B) 4

(C) 6

(D) 3

46. ^^[ksy euksfoKku** dh vaxzsth esa Lisfyax D;k
gS \

(A) Sports Psychology

(B) Sports Sychology

(C) Sports Xychology

(D) buesa ls dksbZ ugha

47. euk s foKku dh fdruh eq[; 'kk[kk, ¡
gSa \

(A) 20

(B) 30

(C) 12

(D) 10

48. vk/kqfud le; esa] euksfoKku dks fdldk
foKku ekuk tkrk gS \

(A) vfHk:fp

(B) euksjatu

(C) O;ogkj

(D) [ksy

49. fuEufyf[kr esa ls dkSu O;fDrRo dk vk;ke
ugha gS \

(A) HkkSfrd

(B) euksoSKkfud

(C) HkkoukRed

(D) jklk;fud

50. izsj.kk fdrus izdkj dh gksrh gS \

(A) 2

(B) 4

(C) 6

(D) 3
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51. The two factor theory of Motivation is given

by :

(A) Maslow

(B) Jung

(C) Alderfer

(D) Herzberg

52. Reinforcement theory of Motivation is given

by :

(A) Jung

(B) Herzberg

(C) Skinner

(D) Maslow

53. Achievement motivation relates to :

(A) Need of the person

(B) Knowledge of the person

(C) Experience of the person

(D) Aptitude of the person

54. 'Persona' means in personality :

(A) Person

(B) Body physique

(C) Behaviour

(D) Mask

55. The initial steep rise in the learning graph is

an indication of quick progress and is

technically known as :

(A) End spurt

(B) Initial spurt

(C) Saturation point

(D) None of the above

51. vfHkizsj.kk dk nks dkjd fl)kar fdlds }kjk
fn;k x;k gS \

(A) eSLyks

(B) tax

(C) ,YMjQj

(D) gtZcxZ

52. izsj.kk dk lqn`<+hdj.k fl)kar fdlds }kjk
fn;k x;k gS \

(A) tax

(B) gtZcxZ

(C) fLduj

(D) eSLyks

53. miyfC/k vfHkizsj.kk dk laca/k------ls gSA

(A) O;fDr dh vko';drk

(B) O;fDr ds Kku

(C) O;fDr ds vuqHko

(D) O;fDr dh ;ksX;rk

54. 'Persona' dk vFkZ O;fDrRo esa gksrk gS %

(A) O;fDr

(B) 'kjhj dk;k

(C) O;ogkj

(D) eq[kkSVk

55. lh[kus ds xzkQ esa izkjfEHkd rst o`f) Rofjr
izxfr dk ladsr gS vkSj bls rduhdh :i ls
tkuk tkrk gS %

(A) vafre mNky

(B) izkjfEHkd mNky

(C) lar`fIr fcUnq

(D) mijksDr esa ls dksbZ ugha
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56. Which of the following is a Law of Learning ?

(A) Law of Effect

(B) Law of Exercise

(C) Law of Readiness

(D) All of the above

57. The personal components in learning are :

(A) Psychology

(B) Heredity

(C) Fitness

(D) All of the above

58. Natural motivation is also called :

(A) Self-actualization

(B) Self-assertion

(C) Extrinsic

(D) Intrinsic

59. Individual differences are due to :

(A) Heredity impact

(B) Environmental impact

(C) All of the above

(D) None of these

60. Reinforcement theory of Motivation is given

by :

(A) Skinner

(B) Jung

(C) Plato

(D) None of these

56. fuEufyf[kr esa ls dkSu&lk lh[kus dk fu;e gS \

(A) izHkko dk fu;e

(B) O;k;ke dk fu;e

(C) rRijrk dk fu;e

(D) mijksDr lHkh

57. lh[kus esa O;fDrxr ?kVd gSaA

(A) euksfoKku

(B) oa'kkxfr

(C) LokLF;

(D) mijksDr lHkh

58. izkÑfrd vfHkizsj.kk dks-----Hkh dgk tkrk gSA

(A) vkRecks/k

(B) vkRe&vfHkdFku

(C) cká

(D) vkarfjd

59. O;fDrxr varj fdlds dkj.k gS \

(A) vkuqoaf'kd izHkko

(B) i;kZoj.kh; izHkko

(C) mijksDr lHkh

(D) buesa ls dksbZ ugha

60. izsj.kk dk lqn`<+hdj.k fl)kar fdlds }kjk
fn;k x;k gS \

(A) fLduj

(B) tax

(C) IysVks

(D) buesa ls dksbZ ugha
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Rough Work @ jQ dk;Z



Example :

Question :

Q.1

Q.2

Q.3

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigi lator.
Candidate can carry their Question
Booklet.

8. There will be no negative marking.

9. Rough work, if any, should be done on
the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

mnkgj.k %

iz'u %

iz'u 1

iz'u 2

iz'u 3

4. izR;sd iz'u ds vad leku gSaA vkids ftrus mÙkj
lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA

5. lHkh mÙkj dsoy vks0,e0vkj0 mÙkj&i=d
(OMR Answer Sheet) ij gh fn;s tkus gSaA
mÙkj&i=d esa fu/kkZfjr LFkku ds vykok vU;=
dgha ij fn;k x;k mÙkj ekU; ugha gksxkA

6. vks0,e0vkj0 mÙkj&i=d (OMR Answer

Sheet) ij dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s
lHkh vuqns'kksa dks lko/kkuhiwoZd i<+ fy;k tk;sA

7. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd

dks viuh OMR Answer Sheet miyC/k djkus

ds ckn gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ

vius lkFk iz'u&iqfLrdk ys tk ldrs gSaA

8. fuxsfVo ekfdZax ugha gSA

9. dksbZ Hkh jQ dk;Z] iz'u&iqfLrdk esa] jQ&dk;Z ds
fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A

10. ijh{kk&d{k esa ykWx&cqd] dSYdqysVj] istj rFkk lsY;qyj
Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA

11. iz'u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus

dh n'kk esa iz'u dk vaxzsth :ikUrj.k gh ekU;

gksxkA
egRoiw.kZ% iz'uiqfLrdk [kksyus ij izFker% tk¡p dj
ns[k ysa fd iz'uiqfLrdk ds lHkh i`"B HkyhHkk¡fr Nis
gq, gS aA ;fn iz'uiqfLrdk es a dk sb Z deh gk s] rk s
d{kfujh{kd dk s fn[kkdj mlh fljht dh nwljh
iz'uiqfLrdk izkIr dj ys aA

A C D

A D

A C D

B

A C D

A D

A C D

B


